This appendix contains a complete description of the regression equations corresponding to each of the models found in Table 1.
Model 1
For visit 1:

SBPi,1 = (01 + (C(PbBi,1) + (i,1
(1)


where i = ith individual and 1 = visit 1; (i,1 is residual error; and C designates “cross-sectional.” 
For visit 2:

SBPi,2 = (02 + (C(PbBi,1) + (L(PbBi,2 - PbBi,1) + (i,2
(2)

where L designates “longitudinal.” 

For visit 3:

SBPi,3 = (03 + (C(PbBi,1) + (L(PbBi,3 - PbBi,1) + (i.,3
(3)

For average change from visit 1 to visit 2 (subtracting equation 1 from equation 2 [intercepts not shown]):


Av(SBPi,2 - SBPi,1) =  (L(PbBi,2 - PbBi,1)



(4)

For average change from visit 2 to visit 3 (subtracting equation 2 from equation 3):


Av(SBPi,3 - SBPi,2) = (L(PbBi,3 - PbBi,2)



(5)

Model 2
For visit 1:

SBPi,1 = (01 + (C(PbBi,1) + (i,1
(1)

For visit 2:

SBPi,2 = (02 + (C(PbBi,1) + (H(TIBi,1) + (i,2
(2)

where H designates “historical.” 

For visit 3:

SBPi,3 = (03 + (C(PbBi,1) + (H(TIBi,1 + TIBi,2) + (i.,3
(3)

For average change from visit 1 to visit 2 (subtracting equation 1 from equation 2 [intercepts not shown]):


Av(SBPi,2 - SBPi,1) =  (H(TIBi,1)


(4)

For average change from visit 2 to visit 3 (subtracting equation 2 from equation 3):


Av(SBPi,3 - SBPi,2) = (H(TIBi,2)


(5)

Model 3

For visit 1:

SBPi,1 = (01 + (C(TIBi,1) + (i,1
(1)

For visit 2:

SBPi,2 = (02 + (C(PbBi,1) + (H(TIBi,1) + (L(PbBi,2 - PbBi,1) + (i,2
(2)

For visit 3:

SBPi,3 = (03 + (C(PbBi,1) + (H(TIBi,1 + TIBi,2) + (L(PbBi,3 - PbBi,1) + (i.,3
(3)

For average change from visit 1 to visit 2 (subtracting equation 1 from equation 2 [intercepts not shown]):


Av(SBPi,2 - SBPi,1) =  (H(TIBi,1) + (L(PbBi,2 - PbBi,1)


(4)

For average change from visit 2 to visit 3 (subtracting equation 2 from equation 3):


Av(SBPi,3 - SBPi,2) = (H(TIBi,2) + (L(PbBi,3 - PbBi,2)



(5)

Model 4

For visit 1:

SBPi,1 = (01 + (C(PbBi,1) + (i,1
(1)


where i = ith individual and 1 = visit 1; (i,1 is residual error; and C designates “cross-sectional.” Thus, BC summarizes the baseline cross-sectional relationship between SBP and blood lead.
For visit 2:

SBPi,2 = (02 + (C(PbBi,1) + (H(TIBi,1) + (L(PbBi,2 - PbBi,1) + (i,2
(2)

where H designates “historical,” and L designates “longitudinal.” 

For visit 3:

SBPi,3 = (03 + (C(PbBi,1) + (H(TIBi,1 + TIBi,2) + (L(PbBi,3 - PbBi,1) + (i., 3
(3)


Equations 1 to 3 can be combined to derive equations for change from visit 1 to visit 2 (equation 4), and change from visit 2 to visit 3 (equation 5), as follows:

For average change from visit 1 to visit 2 (subtracting equation 1 from equation 2 [intercepts not shown]):


Av(SBPi,2 - SBPi,1) =  (H(TIBi,1) + (L(PbBi,2 - PbBi,1)



(4)

For average change from visit 2 to visit 3 (subtracting equation 2 from equation 3):


Av(SBPi,3 - SBPi,2) = (H(TIBi,2) + (L(PbBi,3 - PbBi,2)



(5)


The coefficient, BC, summarizes the baseline cross-sectional relationship between SBP and blood lead. From equations (4) and (5), the historical ( coefficients ((H) summarize prediction of change in systolic blood pressure from time t to time t + 1 (visit 1 to visit 2 or visit 2 to visit 3, respectively) by tibia lead at time t (visit 1 or visit 2). The longitudinal ( coefficients ((L) summarize prediction of change in systolic blood pressure from time t to t + 1 by change in blood lead from time t to time t + 1.
